0(0 @) (rad)

SICEWATL

1072

=
<

1

2 3
TPlpoT (PCA t%obeamliné[f)

a(d cot(v))
3

1072

1073

T IIIIIIII
—

o 1 DD% I 11 1

g f E

o ------ Resndhand e e e
0.955— -------- dk . et

o

=

o@
N

1

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWP2_epoch4

i) F
I F
o - et o N B
0.95fF----+--- 1 I 110 1 O SRS
oF Il
107 1 10 02 - 10°
TPp, (PCA tlo beamliné
-
o
e
o
o
o

R 14 1N ) 0 6 D 0

i+

1

: 2 3
TPlpg)T (PCA t%)obeamlin%)o

z

oo a ) (cm)

Ratio

e

T
—+

<+

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


